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Part A: Statements

Directions; In Part A you will hear a short statement,

It will be spoken only once, Listen carefully so you
can understand what is said,

Look at the Example,
You will hear, She went to the movies with Ed.

You will read, (A) She went home, Sample Answer
| (B)ShelikesEd, A B @ D

( C) She went to the movies.

(D) She went to Ed’s house,

Sentence (C), *She went to the movies,® is closest
in meaning to the sentence “She went to the movies

with Ed.” Therefore you should choose answer (C).

Unit 1, Numbers

1. (A) She has three keys,
(B) She has two bags.
(C) She has five keys.
(D) She has three bags.

2 . (A) They want two bottles all together.
(B) They want three bottles all together.
(C) They want four bottles all together.
(D) Théy want five bottles all together,

* ] .
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. (A) Eight people came.

(B) Seven people came;
(C) Twelve people came,
(D) Nine people came,

. (A) We sold forty tickets,

(B) We expected to sell twenty tickets,
(C) We expected to sell eighty tickets,
(D) We sold eighty tickets,

. (A) City College has 260 students now.

(B) In 1960 City College has 520 students,
(C) In 1960 City College has 1040 students,
(D) City College was founded in 1960,

. XA) The stadium has room for 100,000 people.

(B) 7,500 people attended last night’s game,

(C) 25,000 p=ople attended last night’s game,

(D) There were 50,000 people at the game last
night ‘

. (A) 1-19 is a busy highway,

(B) 1-99 is the only busy highway,

(C) 1-19 is not a busy highway.

(D) 1-90 is 2 busy highway,

. (A) The suitcase is not heavy,
- (B) The suitcase weighs 16 pounds too much, 4

(C) The weight of the suitcase is 60 pounds.
(D) You will not need to pay extra.

- CA) It costs $19 to go to Washington,

2



10,

11,

12.

13.

14.

15,

(B) $80 is the price of a ticket to Washington,

(C) A ticket to Washington costs §8,

(D) One way to go to Washington is to buy a
ticket,

(A) Jane's room is on the 14th {floor,

(B).Iane’s room is the first one,

(C) Parks Tower has 40 floors,

(D) Room 14 is Jane's,

(A) Thirty-one is the rate of exchange,

(B) Thirty-to-one is the rate of exchange,

(C) Thirteen-to-one is the rate of exchange,

(D) Three-to-one is the rate of exchange,

(A) Channel 3 carries CBS ri’ews,

( B) Channel 6 carries CBS news._

(C) Channel 13 carries CBS news,

(D) Chanrel 30 carries CBS news,

(A) The flight at gate2 is No, 14.

(B) The flight to Dallas is No, 42,
(C) The flight now boarding is No. 40,
(D) The flight at gate2is new,

(A) Jean attended the meeting.

(B) Jean attended two meetings,

(C) Jean attended 12 meetings.

(D) Jean attended 10 meetings,
(A) Now we get two boxes every moath,

(B) Now we get four boxes every year.

9,3 ’



16,

17.

18,

19.

20.

(C) Now we get one box every month,
(D) Now we get two boxes every month,
(A) David makes $2,000 a month, |
(B) David makes $4,000 a year,

(C) David makes $300 a2 month,

(D) David makes $8,000 a year,

(A) She had 6 unbroken cups,

" (B) She had 2 brokea cups,

(C) She had & broken cups,

(D) She had 4 breoken cups.

(A) Patricia’s husband is 20,

( B) Patricia’s husband is about 40.

(C) Patricia’s father is old, )
(D) Patricia’s husband has no father.

(A) My gas tank is empty,

(B) My gas tank is half full,

(C) My gas tank usually holds 6 galloas,
(D) My gas tank has 16 gallons in it now,

(A) An extra person costs four dollars more,
(B) An extra person costs five dollars more,
(C) An extra person costs two dollars more,
(D) An extra person costs nine dollars more,

Unit 2, Time

. (A) He got up at 8,00,

(B) He left homs at 7,00.
(C) He got up at 7,00,

47‘ ’



(D) He left home at 7,30.
. (A) Tt rained last night,
(B) We didn’t have rain in the afternoon,
(C) It snowed last night, |
(D) We didn’t have snow last night,
. CA) He left at 8:30, |
(B) He came back at 8:00,

(C) He came back at 8:13.

(D) He left at 8:00,

. CA) Pam left first,

(B) Bob left at 12:30.

(C) Pam left at 11:30.

(D) Bob left first, .

. (A) He was gone two hours,

(B) He was gone seven hours.

(C) He was gone five hours,

(D) He was gone three hours,

. (A) She can come at 6:00.

(B) She can’t come,

(C) She can come at 7:00,

(D) She can’t come at 7:00, ‘

. (A) The bus left at 8:45 a m,

(B) The bus left at 8:40 a. m_

(C) The bus left at 8:35 p, m,

(D) The bus left at 8:30 p.m,

. CA) Bill gets to class at 8 o’clock.



10.

11,

12,

13,

(B)

(C)
(D)

. (A)

(B)
(C)

(D)

(A)
(B)
(C)
(D)
(A)
(B)
(C)
(D)
(A)
(B)

(C)
(D)
(A)
(B)

(C)
(D)

-

Bill does not have a class in the morning,
Bill gets to class at 8:15.

Bill gets to class 15 minutes before it begins,
Mr. Black must leave his house at 9:00,
Mr, Black must be at work at 8:30,

Mr, Black must spend an hour driving to
work, ‘ - |
Mr. Black must spend a half-hour driving
to work,

John arrived for the 12 o’clock meal,

John was too late to eat,

John did not plan to arrive at moon.

John arrived at 2 o'clock,

It took 3 extra hours to get there,

It usually takes 3 hours to get there

We usually have a flat tire,

It usually takes-longer to get there,

It took 2 weeks to get your letter,

I did not get your letter because of the
strike, ' |

It took 2 extra weeks io get your letter,
The postal workers are usually on strike,
It is around 5 o’clock,

It is around 8 o’clock.

It is arcund 10 o'clock,

It is around 12 o’clock,

L]



14,

15,

16.

17,

" (B) Louise is early,

18,

19,

20,

(A) You should leave at 8:30.
(B) The play starts at 8:30.
(C) The play starts at 7:30,
(D) You should leave at 8 o’clock.
(A) Bob left on Thursday.

( B) Bill left on Friday.

(C) John left on Thursday.
(D) Bob left on Friday,

(A) We waited outsidé,

(B) We waited for 70 minutes,
(C) We've had to wait before,
(D) We arrived after 10,

(A) Louise is very late_

(C) Louise left an hour and a half ago.
(D) Louise left after an hour and a half.

{A) He'll be in port this weékend,

(B) He has a stipend,

(C) He's working on Saturday and Sunday.

(D) He'll be wéakened by the illness.
(A) We meet once avery two weeks,
(B) We meet for an hour, |

(C) They asked me and severa! others,

(D) They love to fly on windy days,

(A) Sarah posed for half an hour.
(B) Sarah arrived sooner than cxpected.

.



(C) Sarah clocke‘ci the train at 50 miles per
hour, | -

(D) Sarah supportéd the idea of closing earlier,

Unit 8, Money -

. (A) They have $20.00.

( B) Dick has $15.00.

(C) They have $15,00.

(D) John has $5.00,

. (A) He needs one more dollar, . |

(B) He needs four more dollars,

(C) He needs five more dollars,

(D) He needs nine more dollars,

. (A) They have $15.00 in all,

(B) They have $20,00 in all

(C) They have $10,00 in all,

(D) They have $5.00 in all,

. (A) They cost $i4.00 all together,

(B) They cost $9.00 all together,

(C) They cost $7.00 all together,

(D) They cost §5,00 all together,

. (A) The pen costs $2.00,

(B) The pen costs $5. 00,

(C) The pen costs $3.00.

(D) The pen costs $7.00,

6. (A) Mrs. Black spent $20.

(B) Mrs, Black saved $16.
8



10,

11,

13,

14,

(C)y
(D)

. (A)

(C)

. (A)

(C)

. (A)

(C)
(A)
(B)
(C)
(D)
(A)
(B>
(C)

(D)
12,

(A)
(B)
(C)
(D)
(A)
¢B)
(C)
(D)
(A)
(B)

Mrs, Black paid too much,
Mrs. Black saved $4.

He paid §2. (B) He paid $3.
He paid $4, (D) He paid $6.
Jeff spent $10, (B) Jeff spent $20,
Jeff spent $30, (D) {eff spent $40,

Martha paid $30, (B) Martha paid $60.
Martha paid $90, (D )Martha paid $120,
The speaker's salary is $250,

The speaker’s salary is $750.

The speaker’s salary is $500,

The speaker’s salary is £125.

QOne end table costs $85.

Each end table costs $75.

A pair of end tables cost $170.

A pair of end tables cost $300,
Alice did not give the teller enough,
The teller charged Alice to cash her check.
Alice was ten dollars short,

The teller was shorter than 'A’lice;
A used book is §6 cheaper than a new book,
A used book costs $2.50,
Mary saved $2.50.

A new book costs $8,50,
They charged us $15.
They charged us $20.



15.

16,

17,

18,

19,

20,

(C) They‘chargeci us %‘}0
(D) They charged us $40,
(A) Ron bought ten wallets
(B) Ron paid too much,
(C) Ron saved $2.50
(D) Ron spent $10,
(A) Each pen costs $2.
(B) Each pen costs $3,
(C) Each pen costs $2.5.
(_D)‘Each pea costs $3.5.
(A) Joha spent $150,
(B ) John bought a new bike,
(C) John spent $75,
(D) lohn bought two bikes,
(A) The book costs Jack $2 more,.
(B ) The book costs Jack $1.5 niore,
(C) The book costs Jack $3 more.
(D) The book costs Jack $0.5 more,
(A) The ticket price for the children is $4.
(B) The ticket price for the childrea is $2.
(C) The ticket price for the children is $3.
(D) The ticket price for the children is $8,
(A) Mr. Smith had $500 left,
(B) Mr, Smith had $750 left,
(C) Mr. Smith had $600 left,
(D) Mr. Smith had $650 left,

e 10



[A]

. (A)

(B)
(C)H
(D)

. (A)

(B)
(C)
(D)

. (A)

(B)
(C)

{D)
. (A)

(B)
(C)
(D)

. (A)

(B)
(C)
(D)

. (A)

(B>
(C)

-_ (D)
. (A)

Unit 4, Reference
Julie wrote a letter,
Tom wrote a letter,
John wrote a letter,
They wrote a letter.
Patty likes swimming,
Bill and Patty like skiing,

Bill and Patty like swimming,

Patty likes skiing,

They got & present,

Jim got a present,

Bill got a present,

Mary got a present,

Bob hit Ed,

Her brother hit Ed,

Ed hit Bob. |

Her brother hit Bob,

He likes English and science.
He likes history and Eaglish,
He likes Englisk, '
He likes science,

Fred didn’t go bowling.

Jack went bowling,

Fred weant bow_ling.’

Carol went bowling,

Dick sang to John.
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